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Marks
Section 1 (15 marks) Start a new sheet of writing paper.

(@) Tn each of the following, find the value of the pronumerals.
Reasons are not required.

® @

c %

(i)

™
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®) Please write your solution to this question on the removable page

at the back of this examination. Attach the page to your answers.

Sect
AB is. a diameter of circle ABC. The tangents at A and C meet at T.
The lines TC and AB are produced to meet at P. Join AC and CB. @
®

@ Whyis £TAOaright angle?

1
G Prove that ZCAT =90°—~ /BCP. 2
(i) hence, or otherwise, prove that ZATC =2/BCP. 3

End of Section 1
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Section 2 (15 marks) Start a new sheet of writing paper. Marks
@ Find the cartesian equation of the curve whose parametric equations
o x=ft+2
y=£-1 2
®) P(2ap, ap®)is a point on the parabola x* =4ay.
Show that the normal to the parabola ath has equation
O i py=ap®+2ap. s
i) The normal at P meets the parabola’s axis of symmetry at N. If Mis
the midpoint of NP, show the locus of M is ¥ =a(y-a). 3
© 2
F@ ==
(® Showthat f(x) isan even function. 1
() Describe the behaviour of the curve as x approaches infinity. 1
@) Determine the equations of all vertical asymptotes. 1
Gv) Find the coordinates of the stationary point(s) on the
curve y = f(x) and determine their nature. 2
) Sketch the graph of the curve showing the above features. 9

End of Section 2
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